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Nested Loops





Reading Assignment: 4.2

2.  Nesting
Write segments of code using nested for loops to print out the following patterns.

A.) 
1 
1 2 3 
2 
1 2 3 
3 
1 2 3 
etc. up to 
15
1 2 3
for ii = 1:15

    fprintf('%d \n',ii);

    for jj = 1:3

        fprintf('%d ',jj);

    end

    fprintf('\n');

end

B.)
1 
1 
2 
1 2 
3 
1 2 3 
4 
1 2 3 4 
etc. up to 
15 
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15



    for ii = 1:15

    fprintf('%d \n',ii);

    for jj = 1:ii

        fprintf('%d ',jj);

    end

    fprintf('\n');

end

C.)


1 2 3 4 5 6 7 8 

2 

2 3 4 5 6 7 8 

3 

3 4 5 6 7 8 

4 

4 5 6 7 8 

5 

5 6 7 8 

6 

6 7 8 

7 

7 8 

8 

8
for ii = 1:8

    for jj = ii:8

        fprintf('%d ',jj);

    end

    fprintf('\n');

    if ii <=7

    fprintf('%d \n',1+ii);

    end

end

D.) A star pattern with n rows.  Below is the case n = 6.

*
** 
*** 
**** 
***** 
******
n = input('Give me a positive integer. ');

for ii = 1:n

    for jj = 1:ii

        fprintf('*');

    end

    fprintf('\n');

end

E.) A square. Pictured below is the case n = 4.

* * * *
*       *
*       *
* * * *
n = input('Give me a positive integer. ');

for ii = 1:n

    % top row

    if ii == 1 | ii == n

        for jj = 1:n

            fprintf('*');

        end

        fprintf('\n');

    else    % middle n-2 rows

        for jj = 1:n

            if jj == 1 | jj == n

                fprintf('*');

            else

                fprintf(' ');

            end

        end

        fprintf('\n');

    end

end

F.) A square with a diagonal.  Pictured below is case n = 5.




* * * * *
 


* *       *
 


*   *     *
 


*      *  *
 


* * * * *
n = input('Give me a positive integer. ');

for ii = 1:n

    % top row

    if ii == 1 | ii == n

        for jj = 1:n

            fprintf('*');

        end

        fprintf('\n');

    else    % middle n-2 rows

        for jj = 1:n

            if jj == ii | jj == n | jj == 1

                fprintf('*');

            else

                fprintf(' ');

            end

        end

        fprintf('\n');

    end

end
G.) An equilateral triangle.  Pictured below is case n = 6.



            *

                 * * *

               * * * * *

             * * * * * * * 

           * * * * * * * * *

 * * * * * * * * * * *
n = input('Give me a positive integer. ');

for ii =1:n

    for jj = 1:(n-ii)

        fprintf(' ');

    end

    for jj = (n-ii+1):(n+ii-1)

        fprintf('*');

    end

    fprintf('\n');

end

